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Instructions for Candidates

1.

Write your Roll No. on the top immediately on receipt of this question paper.

2. The question paper consists of seven questions. Answer any five questions.

3. Use of simple non programmable calculator is allowed

4. Statistical tables are attached for your reference.

5. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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State whether the following statements are true or false. Give reasons for your

answer.

(a) In the adaptive expectations model :

Cov(v,, vt_,) =0

PTO.
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(b) We cannot include variables such as a city’s distance from a river as
explanatory variables in fixed effects within group estimation using panel

data.

(c) In the Hausman test, rejecting the null hypothesis H,, means the error

components model is preferred to fixed effects estimator.

(d) If there are 10 candidate regressors and a researcher data-mines and selects
5 regressors, then the true level of significance. a*, is three times the nominal
level of significance, o.

(e) In the linear regression model in matrix notation : y = Xp + u, we cannot

obtain the vector of estimated coefficients, p = (XX )'l X'y, if there is perfect
collinearity ambng the X’s. (3x5=15)
Tasy &t FrafoRaa oo @@ 2 @ Ted | s IR W fog wwe A
(%) weitca Ifer wisa A
Cov(v,, v,,)=0

(@) A9 T I ITANT F §Y, TIE e & T 70 YT ARAh W D w9
H UH 99 ¥ UH IE G QU O R R B WS FE e

(1) ErEAT e §, A Rever H &l @i o @ o0k 2, fof 3fe wet Az =
T WA UReAe & vEe R S @ )

(a) afe zel 10 yeamh Raer o1 T Merchdl 3e1 AEAd 9 5 Rad o1 999 e 7,
A e HT GG TR o*, 6T B Ahiad R ‘o’ O T BN

(¥) v W wfeeme disd | v Afde ARIM: y = XPB + u, B9 AT IRl
B=(X'X)' Xy & ITR WG A6 W T, AR X’s T S quf wwiaear el
21 '
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2. (a) Consider the regression model Y, =3, +8,X,, +B,X;; +u, where i=1,2,....n.

Assume the u_satisfy the classical OLS assumptions.

(1) Write the regression model in matrix notation clearly defining all

matrices.

(1) Using matrix algebra calculate ﬁ and var—cov(fi), if Y, X, and X,

take values given by the vectors: Y =(3,-3,1,-1), X, =(1,0,-1, 0)
and X, = (1.0. 1, -2).

(i) Write down R? using matrix notation and find its value. (8)
(b) In the regression model Y; =, +B,X, +u,, let Z be an instrumental variable

(IV) for X.

(i) State and explain the conditions that should be satisfied for Z to be an
Iv.

(i) Now assume the u, satisfy the usual OLS assumptions including

cov(X ,u) = 0. What are the consequences for statistical inference

regarding B, of using I'V estimation rather than OLS in this case ?

(7)

(®) b Wl e Y, =B, +B,X, +B, Xy, +u, W R 1 WEl i=1,2,...n
AT i o, FEEEA OLS T AR 6l I el 2 |

(i) = Aew = we w0 F Rl a=a ge, M daa § yfow Asa =
el 1

(i) ATw AR = J@T FT® § T var—cov(ﬁ) oA = AR Y, X
X, qwA: Y=(3,-3,1,-1),X,=(1,0,-1,0) T X, =(1,0,1,-2) W
v gu 1= o 2

(iii) Rfeora AT T IWRT FA §W R? A ForlRaw T @ A ww W

PTO.
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(@) JRemT Aea Y, =B, +B,X, +u, ¥, T AW A X @ v 2 vw aw w2

(i) 2= & IV e & & forg a=gee fof o arelt it 9l Y STaIgy o e
Eoll '

(i) = AT A u, cov(X,u) =0 alw & I OLS A=A & Fq<
A B T A A OLS W wY, R IV FTAE T IWN FH A
wiReat ey & forg @=n wRom @ ? 7

3. (a) Using panel data the fixed effects regression model is :

Y, =B, +BX, +BX, +u wherei=12,... ,N and t=1,2,......T.

37 73it

Suppose that the idiosyncratic errors u, have zero mean, constant variance
c> and there is no autocorrelation across cross section and time series

units. Show that first differencing induces negative serial correlation of
a certain value between adjacent differences Au_ and Au,, and find this
value. (7

(b) To study the rate of growth of population in a certain country over the
p
period 1970-1995, the following model was estimated; (t- ratios are given
in brackets)

e

Model 1:  In(Pop), = 4.73+0.024t
t= (781.25) (54.71)

Model 2:  In(Pop), = 4.7740.015t—0.075D, +0.011D,t
t=(2477.92)(34.01) (—17.03) (25.54)

where Pop = population in millions, t = trend variable, and D, =1 for
observations beginning in 1978 and zero before 1978 and 1n stands for
natural logarithm.

(i) In model 1, what is the rate of growth of population over the sample
period ?
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(ii) Are the population growth rates statistically different pre- and post-
1978 ? Explain. If they are different, what are the growth rates for

1970-77 and 1978-1995 ?

(1) Suppose you were to test whether the population growth rates for
three time periods, namely 1970-77, 1978-86 and 1987-95 are
statistically different. How would you rewrite the model above ? Write
down the regression model and explain how it could be used for this

purpose. (8)

(%) W9 32T 1 IWA FHRA §C A g9 i Hisd aw 2}

Y, =B, +BX, +BX, *u =12 NTMt=12...T

37730

A SRT o e v qed o o e e, o feRe o? o ww sy
T H AT THRA A Q. e - A 2 | Twisg 6w R, A @
Au,,, & Fow R & S v Pfvad 90 @ Fomore W@ 98 - 990 @ IR
FAT & T T AT T R

(@) T Fftaa e A 1970-1995 & o Jaf w FHEEn &t wgfe @ W) AT
& & forg, Fefoafaa Atea =t safam e wan: (- s e § &
?)
#e 11 In(Pop), = 4.73+0.024¢
t= (781.25) (54.71)

Wigd 21 In(Pop) = 4.7740.015t—0.075D, +0.011D,t
t=(2477.92)(34.01) (—17.03) (25.54)

WEl Pop = S&EA @l 4, t= 3 W AAM D =1 1978 # I 8 ATt Jreiieheit
& fow @ 79 1978 A vt & fog @ In o 3 WigfaE waRe 2 )

(i) ¥ieer 1 ¥ ¥q w9a Al W weEen 9 gfg A w w2 7

PTO.
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(i) = 1978 ¥ 94 7 W ¥ SwaEw I R Afikata w9 § fr @ ? ey |
afe 78 B 8, & 1970-77 9 1978-1995 & fow gfg s e 2 7

(iii) ¥F AR & AW N TE qher FAT B W A W IEEE B A
1970-77, 1978-86 9 1987-95 = fore s gfe & wifenshia & & =
21 W FR Ry W dEd w G DA fordd 7 wfwe died fRifaw sk
TR W T RW @ g HA Iw@w A Wi |

4. (a) Consider a simple regression model to estimate the effects of personal
computer (PC) ownership on college grade point average(GPA) for final

year students at a university :
GPA, = B, + B,PC. +u,
where PC_is a binary variable indicating PC ownership.
(i) Explain why PC ownership may be correlated with u ?

(i) Explain why PC is likely to be related to parent’s annual income.
Does this mean that parental income is a good IV for PC ? Why or

why not ?

(i) Suppose that, two years ago, the university gave grants to buy
computers to half of the incoming students, and the students
who received the grants were randomly chosen. Explain how you
would use this information to construct an instrumental variable

for PC. (7

(b) Consider the distributed lag (DL) model :
Y =a+B,X, +B,X,_ +B,X,_,+..+u,

(i) What a priori restrictions are imposed on the B coefficients in the

Koyck model ?

(i) Describe the Koyck transformation to show how the DL model can be

transformed to an estimable model.
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(iii) If u, satisfy the standard OLS assumptior{s, state and derive the
features of the transformed disturbance term v,. What are the

- implications for OLS estimation ? (8)

(%) & famafaaca & sfwm af & o= @ fow 93 wEe e (GPA) W 9@
FFI (PC) & w@iffca & TE &l JFAAT d & forg awel wfeime gl |
faR R .

GPA, = B, + B,PC, + u
WEl PC, v femw @ Wt PC & @i i sifeha aean 2
(i) w@sR F PC &1 @fica, u & qe - awafud &t o 2 7

(i) werEmEe = PC & war- far ot aiffen sma @ wwafum 8 & awraer 2
T THFH T5 T 2 N war-fa 9 3@ PC R o ww st [V R ?
7T 4 | ?

(iii) A A A A AT e fazafaare & s MY ST @ wEE @ WA
FE ® folg Ire & v R s & W W g8 37 SaEid g9 R/ 9 I |
TAAZT DY Y PC & forg v wemaew R o1 Foio & § 39 991 @
IYAR B

(w) RfRgaafes d (DL) W w -
Y, =o+B,X, +B,X_, +B,X.,+...+u,
(i) wiad Aeet & B IUE W FT TARRT Jioaw /g Q7

(i) DL et = U A ARG HiEe A TaR ha fmar W 2, & quie &
fo, wiae FAFROT HigH H AR WX |

(i) @R u WFEH OLS AGISH & Fg &l 8, A TA=IRA IIed W
v, @ FRiwarst @ e o a Ay OLS sigAe & fow sward e
B 7

PTO.
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5. (a) Consider the regression model : Y = + p,x, + u where x, = X, - X and

1=1,2....n and assume the CLRM assumptions are satisfied.

(1) Write the model using matrix notation, clearly defining all matrices.

(i) Derive the ﬁ vector and the var—cov(ﬁ) matrix.

(it} Discuss the unbiasedness properties of ﬁ

(b) The regression model postulated is :

Y, =B, +BX, +u,

(7)

where Y, is the desired or long-run business expenditure for new plant and

equipment, X is sales and t represents time. Using the stock adjustment

model, and data on fixed plant and equipment in manufacturing and sales for

the period 1970-1991, the following results were obtained :

Dependent variable: Y,
Method: Least Squares
Observations 1971-1991 (T =21}
coefficient std. error t-ratio p-value
const -15.1040 4.72945 -3.194 0.0050 ***
X: - 0.629273 0.0978191 6.433 = 4.70e-06 ¥**
Y: -1) 0.271676 0.114858 2.365 0.0294 **
Mean dependent var. 109.2167 S.D. dependent var 51.78550
Sum squared resid. 690.5208 S.E. of regression 6.193728
R-squared 0.987125 Adjusted R-squared 0.985695
F(2,18) 690.0561  P-value(F) 9.72¢-18
Log-likelihood -66.47341  Akaike criterion 138.9468
Schwarz criterion 142.0804 Hannan-Quinn 139.6269
Rho 0.229740 Durbin-Watson 1.518595

(i) Show how the stock adjustment model’s hypothesis regarding Y, has

been used to transform the model into an autoregressive model. Write

down the transformed model and outline its features.
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(1) What is the estimated coefficient of adjustment ? Explain what it means.

(i) Write down the estimated long- and short- run demand functions for
expenditure on new plant and equipment. (8)

(F) wRAmAfee: Y, =B, +Bx, +u RfEER & (76T x, = X, - X FAMi=1,2...n
R MAY 9 CLRM #F9al & 8 @ 2 |

(i) ARerm ART F IWW FWS Hizw ford, W wh e @ we '
ofenite e ®

(ii) § & T var—cov(p) AfZEa @l T W |
(iii) p = Frovern faawasl A ==t &0
(@) s T wieAw e e B
Y: =B, +BX, +u,

WE Y 7 wie 9 Iuaw & forg difed @ Sefafy amr =@ 2, X R @
t TG Y T B | Wi qAaAmE Aigw, faftmio § T Wi 9 Iyl ) e au
TEEt 1970-1991 & fog fsht @1 v @, Fefaien aitom we &e 2

’

Dependent variable: ¥,
Method: Least Squares
Observations 1971-1991 (T =21)
coefficient std. error t-ratio p-value
const -15.1040 . 4.72945 -3.194 0.0050 ***
Xe - 0.629273 0.0978191 6.433 4.70e-06 *¥**
Y: ¢-1) 0271676 0.114858 2365 0.0294 **
Mean dependent var. 109.2167 S.D. dependent var 51.78550
Sum squared resid. 690.5208 S.E. of regression 6.193728
R-squared 0.987125 Adjusted R-squared 0.985695
F(2,18) 690.0561 P-value(F) 9.72¢-18
Log-likelihood 6647341  Akaike criterion 138.9468
Schwarz criterion 142.0804 Hannan-Quian 139.6269
Rho 0.229740 Durbin-Watson 1.518595

PTO.
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(i) ToiEE A Y, & Foo A Wi ST s i YReed= st @l fig e Aiee
T UE IS wienmR Aied ¥ woRd & @ v Svam fea wn #
Ta=IRa dAtse ford oo o fasivanstt o1 Wy ey |
(i) TS H AT OiE T R 7 GHAIT THR o I @ 7

(iii) =T AT @ TN R 2 & forg, ST AFTRNT T STeTenien T o
@ fafae

6. (a) Consider the following regression results for a model of consumer’s
expenditure on food using quarterly data from 1985(Q1) to 1994(Q2).

InCons, = 2.717238 + 0.414366In Disp,

t=(4.712091) (3.281340)
R? = 0.230230
where
InConst, =

logarithm of a consumer’s expenditure on food in million Rs at constant

1992 prices and
InDisp, = logarithm of disposable income in million Rs at constant 1992 prices

To check for model misspecification, Ramsey’s RESET test was used and

the following results were obtained using lﬁé—o\nsf as an additional regressor.

[nCons, = —204.0133 — 204.40121nbi§¥31 + 53.74842 InCons’
t = (—4.602369) (—4.654470) (4.663918)
R? = 0.525270
(i) Describe the Ramsey RESET test procedure for model misspecification.

(i) What are your conclusions regarding model misspecification on the
basis of the test ? %)

(b) (i) Explain why a proxy variable for an omitted variable cannot be a good

instrumental variable.
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(1) The Granger causality test is a test of precedence rather than a test of
causality. Do you agree ? Explain. (6)

(%) 1985(Q1) ¥ 1994(Q2) ¥ TIEN IeT N ITANT Feeh, Wl R Il @ = B
T i & o fmfoRaa wfowrm ool w faam =
InCons, = 2.717238 + 0.4143661n Disp,
t = (4.712091)  (3.281340)

R? = 0.230230

W&l InConst, = 1992 &l feR FFl W arAl w0l ¥ @™ R IJusia & = &l
WNREH & | 7 InDisp, = 1992 F feeR Fhl W wral el ¥ Wisa 310 o AiTRes
2

e D o [N Fawor it S o & forg, Tda & RESET uRert =1 sqant
foFan T A InCons? T TE SfiRad RIW & w7 ¥ Iwaw o FreafeRaa
TR e §T R |

InCons, = —204.0133 — 204.4012InDisp, + 53.74842 [nCons’
t = (-4.602369) (-4.654470) (4.663918)

R? = 0.525270

(i) vifea & s fRiw foawor & forg wda & RESET wRerr wfikar &t e
cxdl

(ii) aRevr & MR R Aied B T AW famwor & def § s wn e
27

(@) (i) v = TR Wl W, g9 W D P uE st @eed W A8 B
e R

(ii) IR Friferie aRkerr, v wisifofe ulkemr o oo vw SR =1 9dew 2
T A GEAd € ¢ EEsy |

PTO.
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7.

(@

(b)

12

Assume that the true population regression equation is :

Y, =B, + B,X, + u,

Assume further that the assumptions of the CLRM are satisfied but we are
unable to observe the actual values of Y. The observed values of Y* differ

from the actual values as follows :
Yi* = Yi + g

where £, denotes the measurement error in Y. The model estimated.is

therefore
Y, = ([3, +B,X, + ui) + €,

Show that the estimated slope coefficient is an unbiased estimator of the true

B,- What is the effect of measurement errors in the dependent variable on

—

var(Bz) ? State the necessary assumptions clearly. (6)

(1) Why is fixed effects least squares dummy variable (FELSDV) model
" better than pooled OLS when using panel data ? Compare the two

methods of estimation.

(i) Based on hourly compensation rate in manufacturing in US dollars,
Y(in per cent) and the civilian unemployment rate, X(index, 1992=
100) for Canada, the United Kingdom and the United States for the
period 1980-2006 the model postulated is :

Y, =B, +B,X, +uy

Table 1 gives the pooled regression results and Table 2 gives the results
using fixed effects least squares dummy variable method (FELSDV). Table
2 also gives the results of the test for differing cross section intercepts.
Describe the test and the conclusions from it regarding pooled and

FELSDV meodels for the panel data in this exercise.
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Table 1

Model 1: Pooled OLS, using 81 observations
Included 3 cross-sectional units

Time-series length = 27

Dependent variable: comp

Coefficient Std. Error t-ratio p-value
Const 184.441 10.3233 17.87 1.78e-029 *¥*
Un -11.6030 1.32775 -8.739 3.15e-013 ***
Mean dependent var 97.56173 S.D. dependent var 34.8790¢
Sum squared resid 49486.39 S.E. of regression 25.02818
R-squared 0.491530 Adjusted R-squared 0.485093
F(1,79) 76.36796 P-value(F) 3.15¢-13
Log-likelihood -374.7417 Akaike criterion 753.4834
Schwarz criterion 758.2723 Hannan-Quinn 755.4047
Durbin-Watson 0.268755

rho 0.840386

Table 2

Model 2: Fixed-effects, using 81 observations
Included 3 cross-sectional units '
Time-series length = 27

Dependent variable: comp

_coefficient std. error t-ratio - p-value

const 193.868 *11.3930 17.02  8.27¢-028 ***

un -12.8621 1.47651 -8.711  4.32e-013 ***
Mean dependent var 97.56173 S.D. dependent var 34.87909
Sum squared resid 4724591 S.E. of regression 24.77061
R-squared 0.514551 Adjusted R-squared  0.495637
F(3,77) 27.20529 P-value(F) 4.23e-12
Log-likelihood -372.8652 Akaike criterion 753.7305
Schwarz criterion 7633083 Hannan-Quinn 757.5732
rho 0.792163 . Durbin-Watson 0.326033

Test for differing group intercepts -

Null hypothesis: The groups have a common intercept
Test statistic: F(2, 77) = 1.82574

with p-value = P(F(2, 77) > 1.82574) = 0.168004

P.TO.
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(&) W & arafis TEEn TRAEE wieRn Fefiiad @

Y, =B, +B,X; +u,

3R 75 N WAT A CLRM &t #igamd age g8 2, W 89 Y & arafdss 459
w @ | O 2 Y+ R I Y e, afas qed A Feforian yeR ¥ e
2.

Y, =Y, +¢,

WE g, Y, ¥ Ao R A sfra e 2, @b s wed e R

Y, =(B, +B,X +u)+¢,

TAIEY S FFAT o 0k, IEAfaE P, H U o S 2, var(é;) W

foft =) & g 3Rt o o w2 7 e weransl @ A 9 Y 9@y

(i) 9e B a1 W I FQ B, N FA R wE foee A T W
(FELSDV) Afedl, T Tooie OLS ¥ 3iftrer S5wR 2 ? 3o ol 3 faferat
T g WA

(ii) TEmERr 1980-2006 & e TERs wa, gEls fhngwn o e & g
fafafera SR R, X (T=E@® 1992 = 100) o F gfy wer afv ofd

US ek | & ATUR 9 S9I1-0 3471 e T 2

Y, =B, + B, X, +uy

AR e SR TR W T @ e AR R e e @
T W (FELSDV) #ied o1 WM &< R il 8 | aferar—2 fafeer
wiE v @y & forg aRem & oRomel @ W i R 3@ I |
¥t ¥ @ forg Usere @ FELSDV #igall & el # 30 4 e fead @en
qliarer @ Sare @ |
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Table 1

Moedel 1: Pooled OLS, using 81 observations
Included 3 cross-sectional units

Time-series length = 27

Dependent variable: comp

Coefficient Std. Error t-ratio p-value
Const 184.441 10.3233 17.87 1.78e-029 ***
Un -11.6030 1.32775 -8.739 3.15e-013 ***
Mean dependent var 97.56173 S.D. dependent var 34.87905
~Sum squared resid 49486.39 S.E. of regression 25.02818
R-squared 0.491530 Adjusted R-squared 0.485093
F(1,79) 76.36796 P-value(F) 3.15¢-13
Log-likelihood -374.7417 Akaike criterion 753.4834
Schwarz criterion 758.2723 Hannan-Quinn 755.4047
rho 0.840386 Durbin-Watson 0.268755
Table 2
Model 2: Fixed-effects, using 81 observations
Included 3 cross-sectional units
Time-series length = 27
Dependent variable: comp
_coefficient std. error t-ratio  p-value
const 193.868 "11.3930 17.02  8.27-028 ***
un -12.8621 1.47651 -8.711  4.32e-013 ***
Mean dependent var 97.56173 S.D. dependent var 34.87909
‘| Sum squared resid 4724591 S.E. of regression 24.77061
R-squared 0.514551 Adjusted R-squared  0.495637
F(3,77) 27.20529 P-value(F) 4.23e-12
Log-likelihood -372.8652 Akaike criterion 753.7305
- Schwarz criterion 763.3083 Hannan-Quinn 757.5732
tho 0.792163 . Durbin-Watson 0.326033

Test for differing group intercepts -

Null hypothesis: The groups have a common intercept

Test statistic: F(2, 77) = 1.82574
with p-value = P(F(2, 77) > 1.82574) = 0.168004

PT.O.
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AREAS UNDER THE STANDARDIZED NORMAL DISTRIBUTION

Example
Pr{0=Z =1.96) = 04750

Pr{Z = 1.96) = 0.5 — 04750 = 0.025

Z 00 01 02 03 04 08 or 07 08 s
0.0 0000 0040 0080 0120 0160 0199 0239 0279 0319 0359
0.1 0398 0438 0478 0517 0557 0596  .0636  .0675 0714 0753
02 0793 ..0832. 0871 0910 0948 - 0987  .1026 - 1064 .1103  .1141
03 4179 4217 4255 1293 1331 1368 L1406 .1443  .1480 1517
0.4 1554 1591 1628 1664 1700 1736 1772 . 1808  .1844 1879
05 1915 1950 1985 2019 2054 2088 2123 2157 2190 2224
06 2257 2291 9324 2357 2389 2422 2454  .2486. 2517 2549
07 2580 2611 9642 2673 2704 . 2734 2764 2794 2823 2852
08 2881 2910 2039 2967 . 2995 3023 3051 .3078 3106 3133
09 | 3150 3186 3212 8238 . 3264 3289 3315 -.3340 - 3365 3389
10 3413 3438 3461 3485 3508 .3531 3554 3577 3599 3621
1.1 3643 - 3665 3686 3708 3729 3749 3770 3790 3810 .3830
1.2 3849 3869 3888 8007 3925 3944 3962 3980 3997 4015
13 4032 4049 4086 4082 4088 4115 41310 4147 4162 41T
14 192 4207 4202 4236 4251 4265 4279 4292 4306 4319
15 4332 435 4857 4370 4382 4304 4406 4418 4429 4441
16 4452 A463 4474 4484 4495 4505 4515 4525 4535 4545
17 | 4454 A5G4 4573 4582 4501 4509 4608 4616 4625 4633
1.8 4641 4649 4656 4664 4671 4678 4686 4693 4699 4706
19 A713. 4719 4726 4732 4738 4744 4750 4756 4761 4767
20 4772 4778 4783 4788 A793 4798 4803 4808 4812 4817
2:1 4821 4826 4830  4B34 4838 4842  ..4846 4850 4854 . 4857
22 | .4861 AB64 4868 4871 4875 4878 4881 4884 4887 4800
23 4893 4896 4808 4901 4904 4906  ..4909 4911 4913 491
24 4918 4020 4922 4925 4927 4929 4931 4932 4934 493%
25 4938 4940 4941 4943 4945 4946 4048 4949 4951 4952
26 4953 4955 4956 4957  .4959 4960 4961 4962 4963 4964
27 4965 - 4966° 4967 4968 4969 4070 4971 4972 4973 4974
28 4974 4975 4976 A9TT 4977 4978 4979 4979 4980 4981
29 4981 4982 4982 4083 4984 4984 4985 4985 4986 4986
30 A987 4987 - 4987 4988 4988 4989 4989 4989 4990 4990
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PERCENTAGE POINTS OF THE t DISTRIBUTION

Example
Pr(t > 2.086) = 0.025

Pr(t>1725)=005 fordf =20"

Pr(|t] > 1.725) = 0.10

Prl 025 0.10 0.05 0.025 0.01 - 0.005 - - { " "0.001
di. 0.50 0.20 0.10 0.0¢ 0.02 0.010 0.00%
1 1.000 | 3.078. 6.314 12.706 31.821 63657 | 3i8.31
2 0.816 1.886 2.920 4303 6.965 9925 | 22327
3 | 0765 1.638 2.353 3.182 4541 | 5841 10.214
4 0741 |-'1533 - | 2132 | 2776 | 3747 | 4604 | 7473
5 0.727 . | .. 1.476 2.015 2.571 3.365 4.032 5.893
6. 0.718 1440 | 1943 2.447 3.143 3.707. 5.208
7 0.711 ‘1.415 1.895 2.365 . 2.998 3.499 4785
8. | 0706 1.397 1.860 2.306 2.896 3.355 4.501
9 0.703 1.383 1.833 | 2262 2.821 3.250 4,297
10 0.700 1.372 1812 | 222 2.764 3.169 4144
1 |-0697 | 1363 |- 1796 * -] 2201 S2718- |- 8106 - |- 4025
12 0695 | 1356 .| 1782 2179 | 2881 | 3,055 3.930
13 0.694 1.350 1.771 2.160 2.650 3.012 3.852
14 10,692 1.345 1.761 2145 | 2624 2.977 3.787
15 0691. | 1341 | 1753 2.131 2602 | 2947 | 8733
16 0.690 1.337 1.746 2.120 2583 | 2921 3.686
17 0.689 1.333 1.740 2.110° 2567 - | 2.898- 3,646
18 | - 0.688 1830 | 1734 |- 2101 | 2552 ,2.878 3.610.
19 | 0688 .| 1.328 1.729 2.093 2.539 2.861 3.579
20 0.687 1.825 1.725 2.086. 2,528 2.845 3.552
21 0.686 1.323 1721 7 2080 2518 2.831 3,527
22 0.686 1321 | 1717 2.074 2508 | 2819 3505
23 0685 | 1.319 1714 20069 | 2500 - 2.807 3485
24 0685 | 1.318 1.711 2.064 2492 | 2797 - | 3467
25 0.684 1316 1:708 20607 | 2485 2,787 -3.450
%6 0684 { 1.315 1706 | 2056 2479 2.779 3435
27 0684 1| 1314 1,703 2.052 - 2473 2771 3.421
28 | 0683 1318 | 1.701 2.048. 2467 2.763 3.408
29 0.683 1.311 1609 | 2045 2.462 2.756 3.396
30 0.683 1.310 1697 | 2042 2457 2.750 3.385
40 0:681" 1.303 1684 2021 | 2423 2.704 3.307
60 0.679 1.296 1.671 2.000 2.390 2660 | 3232
120 0.677 1.289 1,658 1.980 2.358 2.617 3.160
co | 0.674 1.282 1.645 1.960 2.3%6 2.576 3.090
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UPPER PERCENTAGE PQINTS OF THE F DISTRIBUTION

Example
Pr(F > 1.59) » 0.25  Starea,
PF(E>242) =010  fordf Ny=10. % ares
Pr(F.> 3.14) = 0.05 and N, =9
Pr(F 3526 = 001" 0 wss
dftor , aor
denoim. ] : i 1
inga'td:r d. for numarator Ny d.l for reumerator N, denon
¥ : . . inater
N Pr 1 2 3. 4 5 3 7 8 9 10 11 12 15 20 24 30 40 50 0 100 120 200 500 R A
25 6§63 750 B20 888 882 B0 DM0 619 926 932 036 041 049 958 963 967 971 874 976 978 980 982 084 995 25
1 10 3690 4950 360 5560, S7.20. 5820 6890 5840 5090 6020 6050 6070 6120 6170 6200 6230 6250 6270 6280 63.00 6310 6320 6330 6330 .10 1
05 161.00 20000 21800 22500 230.00. 234.00 237:00..235.00 - 241.00 242.00° 26300 244.00 24800 24800 24900 25000 25100 252.00 25200 25300 25300 25400 254.00 254.00 .05
25 257 800 p:is 323 328 "33 334 335 337 338 339 339 841 343 343 344, 345 345 346 . 347 347 348 248 348 25
2 10 853 900 846 924 929 933 935 937 938 939 940 041 042 944 945 046 947 047 947 048 948 040 949 949 .10 2
05 1850 1800 1820 1920 1930 19.30 1940 1940 1940 1940 1940 1940 1940 1940 1950 1950 1950 1950 1950 1950 1650 1950 19.50 195C .05
01 9853 0900 . 9920 99230 $9.30 0230 9940 9940 9940 © 9940 9940 6940 9940 9940 9950 9950 9950 9950 9950 9950 9950 9950 0960 5950 .0
25 2._02 228 236 239 24 242 243 244 244 244 245 245 248 246  2.46 247 247 247 247 247, 247 247 247 247 25
3 10 554 546 539 5034 6531 528 527 525 824 523 522 522 520 548 518 517 536 545 515 514 614 514 514 512 10 3
05 1010 955 928 942 901 884 889 885. B8 879 876 874 -BI0 866 - BE4 B62 B59 858 857 @55, 055 854 853 053 .05
01 3410 3080 2950 2070 2820 27.80° 27.70 27.50 - 27.30 2720 27.0 2710 2690 2670 2660 2650 2640 2640 2630 2620 2620 2620 2610 2610 .00
25- 181 200 205 206 207 208 208 208 208 200 208 208 208 208 208 208 208 208 208 - 208 208 208 208 208 25
4 A0 454 432 449 441 405 401 395 385 394 392 361 390 387 384 383 387 380 380 A7 37 378 37 376 376 .0 4
05 771 684 650 639 620 6.5 603 604 600 58 594 591° 588 580 577 675 572 570 5697 S66 566 505 564 &3 05
01 2120 1500 1670 1606 1550 1520 1500 1480 - 1470 1450 1440 1440 1420 1400 1390 1380 1870 1370 1370 1360 1360 1350 1350 1355 .0
25 169 1685 188 1.89 189 189 189 189 18 189 183 189 189 188 188 188 188 188 187 187- 187 187 187 18 25
H A0 406, 378 362 352 345 340 337 334 332 aj0 2s- 327 ©324 321 a19 347 816 315 334 3313 352 312 341 310 10 5
05 861 578 541 533 505 495 488 482 477 474 4Tt 468 462 456 453 450 446 444 443 441 440 439 437 435 05
01 1839 1380 1210 1140 1100 {070 1050 1030° 1020 ‘1010 996 989 972 955 647 938 829 924 920 913 94t 908 904 202 O
25 462 {78 438 179 478 178 178 4¥E A 137 Ay ATE AT W76 175 475 176 475 174 174 174 174 178 - 0ns 25
[ A0 378 348 32 318 At 305 301 288 296 294 282 290 287 284 282 280 278 277 276 275 274 273 233 212 6
05 699 514 476 453 439 428 421 415 410 406 403 400 394 387 384 381 377 375 3¢ 371 370 369 3B 36T 05
01 1370 1060 978 O15 875 847 826 810 798 78 779 772 786 740 73 72 4 703 706 699 697 693 690 688 ()
25 157 1.70 172 172 1 171 1.70 1.70 169 169 1:69 .68 168 - 167 1.67 166- 186 1.66 165 1.65 1.85 1.65 1.85 165 .25
7 10 359 226 307 396 288 283 278 275 272 270 268 267 2:83 259 258 ?.58 2'54. 252 251 250 249 248 248 247 10 7
05 558 474 435 442 0867 387 379 373 368 964 360 95 351 344 341 838 3u° 3% 330 327 ay 325 324 33 o8
01 1220 985 845 785 748 13- 699 6B  B72 862 65§ 647 631 616 607 599 591 586 582 575 574 570 587 5385 Q)
25 458 188 167 186 166 165 164 166 163 163 16y . 162 162 2167 180 160 158 189 (59 158 158 {58 158 1S3 %S
8 10 3.48 714 292 2.81 273 267 262 259 258 ?_54_ 253 2_5-;0 248 242 240 238 2.36 235 2.34 232 2.32 2.31 2.30 Aer 10 8
05 532 448 407 384 368 358 as0 344 939 335 a;  ags 32 315 312 308 304 202 301 287 297 295 2% 294 5
01 1120 885 759 701 663 B37 61 603 591 581 573 567 552 536 528 520 512 507 503, 496 495 4m 488 <TT 0
25 151 162 183 83 162 1§t 160" 160 159 150 15 g8 17 156 156 155 455 154 454 183 153 183 182 %2
9 A0 836 301 281 260 261 285 251 247 244 242 240 238 234 230 225 225 223 22 221 219 28 297 217 208 i 8
05 513 428 .386 383 348 837 023 323 318 314 g0 37 301 284 290 286 280 280 279 276 275 273 272 27 O
01 1080 802 699 642 606 580 561 547 535 526 518 611 486 481 473 4.65 457 452 448 442 440 436 433 431 Ot
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0Old

dpf'ea PERCENTAGE POINTS OF THE FDISTRIBUTION{CONTINUED)

d.for * —
denom- e £ for
Indtor: s d.’".m rator Ny L d.f. for numr-ator N, denom.
1 ‘Pr 1 - 2 4 5 - inator
% - s 5 8. T 8 s 0 - oy @ 40 s e 10 120 20 50 e b | M
" 2,3 ;;: ;"0 160 189 159 158 157 158 156 1S5 455 154 183 152 152 151 451 450 150 149 149 143 148 145 25
: 05 gag oga 23261 2% 248 241 238 235 2% 230 228 924 220 248 216 203 212 211 200 208 207 205 206 0 | 10
o 10w v 371348 3% 322 814 307 862 298 284 201 g5 877 274 270 288 284 262 259 258 255 255 251 05
1 0 758 855 509 564 539 520 506 484 485 477 a7t 456 441 433 425 417 412 408 401 400 396 393 ;.0
» o 158 155 A1 156 165 156 153 183 152 152 15T 150 49 14D (48 147 147 147 146 146 145 145 Le5 25
A0 823 280 286 254 245 230 2 230 27 225 228 221 217 212 210 208 205 204 203 200 200 199 198 197 .10 11
U6 484 38 259 33 320 309 301 295 290 285 282 279 p72 265 261 257 253 251 243 246 245 243 242 240 05
1965 72 82 567 532 50T 480 474 453 AS4 446 440 425 400 402 394 38 381 378 371 869 386 352 360 .01
25 148 156 158 %55 154 153 152 151 151 150 150 149 jdg 147 146 145 145 144 144 143 143 143 142 142 25 |
12 A0 318 281 281 248 239" 233 228 224 221 219 297 215 290 206 204 201 1989 197 195 194 193 182 191 190 .10 2
{5 476 389 249 828 311 300 281 285 280 275 272 289 262 254 251 247 - 243 240 288 235 234 232 231 230 . .05
o 93 688 585 541 508 482 464 4S50 438 430 422 416 451 386 378 370 862 357 354 347 345 341 338 336 01
25 148 185 1S5 153 152 1B 150 140 440 14B 1T 14T q45 145 144 143 142 142 142 141 41 140 140 140 25
13 400 X4 276 256 243 235 228 223 220 216 214 212 210 908 zot 198 198 493 192 190 188 188 186 185 185 10 13
ot . ! 2 2.0
05 4f7T 3Bt B4l 818 803 292 283 277 271 267 263 260 253 246 242 238 234 231 230 226 225 223 222 221 (08
0 807 870 574 521 485 462 444 430 419 410 402 395 392 366 359 351 343 338 33¢ 37 32’ 322 9 347 of
25 14 153 153 182 {51 150 143 148 147 146 146 145 g44 143 122 141 141 140 140 139 439 138 133 138 .25
14 40 310 273 252 239 231 224 218 215 292 210 208 205 201 195 194 191 189 187 185 183 183 182 100 180 10 14
05 4600 374 3 aft 286 285 276 270 285 280 257 253 245 239 235 231 227 224 222 219 218 216 214 213 0%
01, 886 651 S5S58 504 460 445 428 444 403 304 886 380 356 351 323 B35 327 322 31p 311 309 395 303 300 .01
25 143 482 152 181 {49 148 147 146 146 145 144 144 143 141 121 140 . £39 139 138 138 137 137 136 136 25
15 40 3@ 270 249 236 287 221 218 242 200 206 204 - 202 187 192 180 187 1.85 183 182 179 179 177 176 176 .G 15
05 464 368 320 306 280 278 271 264 256 254 2851 248 1240 233 229 225 220 218 216 212 2141 210 208 207 05
Of 888 636 542 - 480 456 432 494 400 38¢ 380 873 267 gs2 387 -39 321 313 308 305 298 296 292 280 287 O
25 142 A5t 151 150 148 147 146 145 L4 144 144 943 G40 140 129 138 137 137 136 136 195 135 134 1 z
16 A0 305 267 246 233 224 218 243 209 206 203 201 489 194 189 -44F 184 18 179 178 t¥6 175 174 173 152 W 6
05 443 383 324 301 285 274 286 250 254 249 245 242 235 228 224 219 245 292 211 207 206 204 202 201 L5
01 853 623 529 . 477 444 420 403 389 378 369 362 335 341 326 318 330 302 297 293 28 284 281 278 275 Ot
25 142 181 150 145 147 146 145 144 143 143 142 141 140 139 138 197 136 135 135 134 134 134 133 133 28
17 40 303 264 244 231 222 215 210 206 203 200 198 186 181 166 184 181 178 176 175 478 A2 171 188 169 .10 17
05 435 359 320 296 281 270 281 255 249 245 241 238 231 223 219 ‘245 210 208 206 202 201 189 197 196 .05
0f 840 61 518 457 43¢ 410 393 379 866 358 352 446 B31 216 308 300 292 287 283 276 275 270 268 285 01
25 141 150 149 148 146 145 144 143 142 142 141 140 139 138 187 186 135 134 134 138 133 132 a2 @32 &5 i
18 40 301 262 243 220 220 213 208 204 200 198 198 193 189 ' 184 481 178 175 174 172 170 169 168 187 486 ','0 !
05 44 385 318 293 277 266 258 251 246 241 237 234 227 219 235 211 206 204 202 198 197 195 1& 1% 05
01 829 601 509 458 425 4m 384 37 380 351 343 357 323 308 300 292 284 278 276 268 266 262 259 257 .
25 14 149 149 147 148 144 143 142 141 141 140 140 138 187 13 135 134 €33 13 132 132 31 3t e 25
19 d0 289 261 240 227 248 11 208 202 198 196 o4 191 186 181 179 176 173 171 170 167 167 485 164 163 10 18
05 438 352 313 280 274 263 254 248 242 238 234 231 223 216 211 207 203 200 198 194 193 191 1.89 ;.ue ,u?
Of 818 693 SO0 450 417 484 377 383 362 243 338 220 BI5 300 292 284 276 271 267 260 258 255 251 243 0
25 140 140 1A’ 146 ' 145 184 {43 142 140 140 189 430 147 (36 135 134 133 133 132 131 131 130 130 128 2
20 40 2877 250 238 225 216 209 204 200 195 194 192 189 184 179 177 474 170 169 468 165 164 163 162 16 12 20
U5 435 349 390 287 271 260" 251 245 230 235 231 228 220 242 203 204 499 197 feT 191 150 188 18 18 -g;
O 810 585 484 443 410 387 370 356 346 337 320 323 D09 284 285 278 269 264 28 254 252 248 24 242 .
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UPPER PERCENTAGE POINTS OF THE FDISTRIBUTION (C_ONTINUED)

df.for

. e s dffor
f’m_ea’;‘g:"-' , 64 for iumarator Ny d.. for numerator Ny denom-
j X 8 - - . B mator
M P 2 3 4 5 6 7 8 9 10 1 12 15 20 24 3 40 50 §0 100 120 200 500 o« P Ny
'25, 140 148 147 145 144 142 141 10 139 189 138 137 136 134 133 132 13t 131 130 130 130 129 129 128 23
2 10205 25 235 222 213 208 201 1897 193 190 188 186 181 L7 473 170 167 165 164 161 160 159 158 157 BT 22
05 430 344 305 262 265 258 245 240 - 234 230 225 233 215 207 203 198 194 191 18 185 184 182 180 175 03
0 795 s72 482 43t 383 378 356 345 335 326, 318 312 286 283 275 267 258 253 250 242 240 238 233 231 .0
25 139 147 148 144 143 1410 1400 1330 138 138 487 136 145 133 132 631 130 120 429 128 128 127 127 128 9%
24 A0 293 254 233 219 210 204 198 194 191 188 185 183 178 K73 0 170 167 164 162 161 158 157 156 184 15 10 24
05 426 340 301 278 262 251 247 23 230 226 221 218 211 203 198 194 1B 188 184 180 179 177 175 173 05
01 782 561 472 422 390 367 350 33 326 317 300 303 289 274 266 258 249 244 240 233 231 227 226 221 Ot
. 45 180 1dB 148 144 142 141 189 138 137 1370 136 155 13 132 131 130 129 128 128 126 126 126 125 125. 25
26 10 291 252 231 247 208 201 196 182 T 188 186 184 181 176 171 168 185 161 159 158 155 154 - (53 151 150 .16 2%
05 428 337 298 274 250 247 230 232 227 22 218 215207 199 195 160 185 182 180 176 175 173 471 169 .05
0 7727 553 484 . 414 382 359 342 329 348 309 302 296 281 266 25 250 242 236 233 225 223 219 216 213 01
25 136 148 145 143 141 140, 132 138 137 136 135 134:133 431 130 129 128 122 127 126 125 125 124 124 25
28 40 289 250 229 216 206 200 194 18 187 184 181 179 174 160 166 163 180 157 .186 183 152 150 14y 148 .10 28
05 420 33% 295 271 256 245 236 2290 234 219 215 292 204 1.9 181 187 182 179 1477 173 171 169 167 185 05
0f 788 845 457 407 375 353 336 . 323 312 303 296 200 275 260 252 244 235 230 226 219 217 213 209 208 o
25 138 145 44 142 141 189 138 13 136 135 135 134 432 190 129 128 127 126 126 125 124 1 23 12 s
30 10 288 249 228 214 205 198 193 188 1485 182 179 177 W72 167 164 161 167 155 154 151 150 148 147 146 10 30
05 417 332 292 269 2853 242 233 227 2217 416 213 409 201 183 189 184 170 178 174 170 188 165 18 162 (5
Ot 756 533 45t 402 370 347 330 347 207 298 201 284 270 285 247 239 230 225 221 213 2% 207 203 201 o
26 138 144 142 140: 138 137 136 195 134 123 482 131 130 128 128 125 124 123, 122 121 121 120 t1@ 119 25
40 A0 284 244 223 209 200 193 187 185 179 176 173 171 163 161 157 154 151 148 147 143 142 141 133 138 90 40
05 408 323 284 281 245 234 225 218 212 208 204 2000 192 184 179 174 w69 166 164 158 158 155 153 151 .05
01 731 S18 431 383 .351 329 042 293 289 280 273 266 252 237 228 220 211 206 202 194 192 187 183 180 .0
25 135 142 141 138 497 135 133 132 181 130 128 120 127 125 124 12 321 1 199 L7 147 996 145 145 25
80 A0 279 239 218 404 185 187 182 177 174 171 168 166 160 154 15 448 144 M41 160 136 135 133 131 129 0 ) 60
’ 05 400 315 276 3253 237 225 217 210 264 199 185 192 184 175 170 185 159 155 153 148 147 144 141 1238 05
.01 708 488 413 385. 334 312 2.95 282 272 2.'5'3'. 256 250 235 220 212 203 1.94 1.88 1.84 1.75 1.73 1.68 1.63 1.60 01
:25 134 140" 139 137 - 135 133 131 130 128 128 {27 126 24 12 42 119 118 117 16 144 113 112 1 110 28
120 10 2.75 2.35 213 1.9 1.9 1.82 {77 172 168 1"65 1.52 160" 155 148 " 145 1.41 137 1.34 1.32 1.27 1.26 1.24 1.21 112 10 120
05 382 307 268 245 229 247 209 202 196 191 187 183 175 1.65. 1.61 155 1.50 1.48 1.43 1.37 1.35 1.32 128 1.25 05
01 6885 479 395 248 347 298 279 266 256 247 240 234 219 203 - 1§5 186 176 170 166 1.56 153 148 142 138 01
) > A8 116 114 192 i1 110 109 108 106 25
25 133 139 138 136 134 132 131 129 128 1z 126 125 1AW 12 120 0 : ‘
200 10 273 283 21 187 188 180 75 170 166 163 160 157 152 146 142 13 531 13 128 124 42 120 7 LM w0
05. 389 B804 265 242 225 214 205 198 103 188 184 480 172 462 157 152 146 141 135 32 129 126 122 L1y 08
o1 676 471 388 04l 3 289 273 280 250 241 254 227 213 17 189 178 180 163 158 i43 144 129 133 128 0
. ) 131 1 128 127 125 124 f24 22 119 L1 16 114 133 142 109 108 107 104 100 25
© fg ;3? ;gg ;g; :i :2 177 12 167 163 180 {87 155 b4 142 138 134 130 26 124 118 417 143 108 100 10 oo
o5 384 300 260 247 221 210 208 186 188 183 179 175 M7 1STT 152 46 139 135 1% der 122 17 111 100 05
01 €85 451 a78 332 202 280 264 251 241 232 225 218 204 188 179 170 1S9 482 47 136 132 125 115 100 of
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UPPER PERCENTAGE POINTS-OF THE x* DISTRIBOTION:

95% area

25% ares

Example
Pi(xd > 1085) = 095 s
Pr{d>2383) = 025 fordsf « 20
PH{? > 3141):= 0.05 ] S
. ¢ 18 - Bs¥ A
Degrees \_Pr P )
of Freedom 995 .990 975 .950 .800
1 392704%.10-°  157088% 10~°  982069°X 10° 393214 X 102 0158
2 0100, 0201 0506 1028 2107
3 o717 4148 .2168- 3518 5844
4 2070 .29M 4844 7107 1.0836
5 A7 5543 .8312 1.1455 © 16103
6 8757 8721 "1.2373 1.6354 22041
7 9803 1.2380 - 1168899 21674 2.8331
8 13444 16465 214797 - 27326 3.4895
9 17343 2.0879. 2.7004 3.3251 44682
10 2.1559 25582 3.2470 39403 4.8652
11 .2.6032 3.0535 3.8158 45748 5.8778
12 3.0738 35706 ‘44038 5.2260 6.3038
13 1 3.5650 41089 5.0087 5:8919 7.0415
14 4.0742 46804 5.6287 8.5708° 7.7885
15 4.5009 5.2204 8.2621 7.2509 8.5468
16 51422 58122 8.9077 7:9618 93122
17 8.6972 6.4078 75842 86718 10,0852
18 6.2048 7.0149 82308 9.3905 10.8849
19 8.8440 76327 1.6058 10.1170 11:6508
20 7.4339 82604 9.5908. 10.8508 12.4426
21 8.0337 8.8972 {0.2829° 115913 13.2396
n : 8.6427 95425 108828 123380 140415
23 9.2604 10:1957 11.6885 13,0905 148479
24 9.8862 10.8564 12:4011 13.8484 © 15:6587
25 105197 115240 131487 14,6114 164734
2% 11.1603 12.1981 138439 15.3791. 17.2919
27 11.8078 12.8786 {45733 161513 18.1138
28 12.4613 18.5648 15.3079 18.9278 18,9392,
29 134211 14.2565 16,0471 17.708% 19.7677°
30 13.7867 149535 16.7908 18.4928 20,5992
40 26,7085 22,1643 244331 285093 28.0505
50 27.9907 29.7067 323574, 34.7642 37.6886
60 , " 35.5346 37.4848 40.4817 434879 46.4589
70 432752 45.4418 48,7578 51.7393 58.3290
80 §1.1720 £3.5400 57.1532 60,3915 64:2778-
90 5.1963 617541 65.6466 69.1260 732012
100* . 67.3276 700648, 742219 77.9208 82.3581

750 500 250 100 050 025 01C 005
. 1015 4549 13233 27055 38415 5.0239 6.6349 " 7.8794
5754 13863 ‘27728 46052 '5.9015 7.3778 9.2103 10.5966
1.2125 2.3660 41084 6.2514 7.8147 9.3484 - 11.3445 "12 gags
1.9226, 3.3567 5.3853 7.7794 9.4877 11.1433 13.2767 14,6802
26788 1 43515 .6.6257 9.2364 11.0705 12.8325 15.0863 16,7498
3:4546 5.3481 7.8408 10.6446 12,5916 14,4494 16.8119 18.5476
4.2548 8.3458 9.0372 12,0170 14.0671 16.0128 18.4753 202777
5.0706° 7.3441 10.2188 13.3615 15,5073 17.5346 20:0502 2" 9550
5.8988 8.3428 113887  14.6887 169150 19,0228 21.6650 23 5893
6.7372 9.3418 - 125489 15.9871 18.3070 20.4831 23.2093 .25 1882
7.5841 10.3410 13.7007 17.2750 19,6751 21.9200 24.7250 26.7569
B.4384 11.3403 14.8454 18,5494 21.0261 23.3367 28.2170 28 2993
9.2991 123398 . 15.9839 19.8119 22.3621 24,7356 27.6693 29.6194
10,1653 13.3303 17.1170 21.0642 23,6848 26.1190 29.1413 313193
14.0365 14.3389 18.2461 22,3072 24.9958 27.4884 30,5779 328013
11.9122 -15.3385. 19.3688 235418’ 26.2962 . 288454 31.93%6 342672
127919 16.3381 20.4887. 24,7690 27.6871 30.1910 33.4087 35 7185
"13:6753 17.3379° 21:6048 25.9894 28.8693 31.5264 34.8053 37.1564
14.5620 18.3376. 227178 27.2025 30.1435 32.8523 36.1908 39 5822
16.4518 19.3374; 23.8277 28,4120 31.4104 34.1696 37.5662 32.99€8
16.3444 20.3372. 24,9348 29,6151 32,6705 35.4789 38.9321 41.4C10
172396 21.3370 26.0393 30.8133 33.9244 36.7807 40,2824 42,7956
18.1373 22.3369 27.1413 32.0069 35.1725 38.0757 41,8384 44 1813
19.0372 23,3387 28.2412 33,1993 36.4151 39,3641 42,9733 45,5585
19.0303 24,3386 29,2389 34.3816 37.6525 40,6465 44.3141 46.9278
' 20.8434 25.3384 .30.4345 36.5631 - 38.6852 41.9232 45.6417 48 2899
21.7494 26,3363 31.5284 36.7412 40.1133 43.1944 46.9630 49,6449
22.6572 27.3363 326205 37.9159 41,3372 44.4607 48.2782 50.9323
23,5666 28.3352 33,7109 39,0875 42,5569 45.7222 495074 52 3256
24.4776 29.3360 34.7998 40.2560 43.7729 46.9792 508922 536720
33,6603 39.3354 45,6160 51,8050 55.7585 59,3417 635507 66 7659
42,9421 49,3349 66.3336 63.1671 67.5048 71.4202 75.153% 79 4900
62.2938 59,3347 66.9914 74.3979 79.0819 83.2976 §4.370¢ 919517
61.6983 69.3344 775766 85,5271 90.5312 95.0231 100.423 164,215
711445 79.3343 88,1303 965782  101.879 106.629 112.320 116,321
80,6247 89.3342° 88.6499 107.565 113.145 118.136 124,118 128.299
90.1332 98.3341 109.141 118.42° 124.342 129.561 135.807 140.169
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DURBIN-WATSON d STATISTIC SIGNIFICANCE POINTS OF 4, AND d,, AT 0.05 LEVEL OF

SIGNIFICANCE

K=t  K=2

nod  dy . 4

%;

K'

a

a4

6 0610 1400 -

7 G700 1.356 0.467

8 0.763 1332 0.539

9 0824 1.320 0629
10 0.879 1.320 0.697
11 0927 1324 0658
12 0971 1331 0812
13 1.010 1.340 0861
14 1.045 1.350 0900
15 1.077 1361 0946
16 1.106 1.371 0982
17 1.133 1381 1015
18 1.158 1391 1.046
19 1.180 1401 1074
20 1201 1411 1100
21 1221 1420 1.425
22 1.239 1429 1.147
23 1257 1.437 1.168
24 1273 1446 1.188
25  1.288 1454 1.206
26 1.302 1461 1.224
27 1316 1469 1.240
28 1,328 1.476 1255
020 1341 1483 1270
130 1.852 1.489 1.284
31 1.363 1495 1297
32 1373 1502 1309
33 1483 1508 1.3
34 1.393 1514 1.333
35 1402 1519 134
B6 1411 1525 1.354
37 1419 1530 1.264
38 1427 1535 1373
‘89 1435 1540 1.382
a0 1442 1544 1.391
45 1475 1566 1.430
50 1503 1585 1.462
S5 1528 1.601 1490
60 1549 1616 1514
65 1567 1629 1.53%
70 1583 1.841. 1.55¢
75 1598 1852 tS71
80 1611 1662 1,586
85 162 181 1600

150 1720 1746 1706
200 1.758- 1778 1.748

1.696
1,777
1.699
1.641
1.604
1.579
1.562
1.551
1.543
1.539
1536
1.535
1.536
1.537

1.538.

1541
1543
1.546
1550
1.553
1556

1560

1,563

1567

1570,

1874

1517
1.580

1584

1.567
1.690
1:594
1597
1.600
1615
1.628
1.641
1,652
1662
1672
1.680
1:688

14696

1703

. 1709
1715

1.760
1.789.

0.358
0.455
0.525
0.595
0.658

0715 .

0.767
0814
0.857
0897
0933
0.967
0.998
1.026
1.053
1078

1101 .
1.123.

1.143
1.162
1181

1198
1.214
1.229
124
1.258
1.271

1283
1:295
4.407
1318
1328
1.338

.1.383

1.421
1 5452.

1480

1.503
1.525
156
1560
1.675
1589
1502
1613
1693
1738,

1.651

1.650.

1.850
1.650
1.650
1650
1651

1.652 -

1663
1.654

1.655

1.656
1.658
1.659
1.668
1674
1681
-1.888.
1696

1703 .

1709,
1./15
1721

726
1732 1

1736

1774

1799

2583
2.414
2.283
2177
2.094
2.030
1977
1935
1.900
1872
1.848
1828
1812
1.797
1.785
1775

1787

1.759
1753

1747 -

1.743
1.739
1.735
1732

1.730

1728
1.728
1724
1723
1722
7R
1721
1720
1721
1.724
1.727
1.731

- 1735
. 1739

1243

RELES

1.751
1755

1358

1788
1810

1475
1238
1.291
1334
1372
1404
1.433
1458

©'1:480

1500
1518
(535
1.550
1651
1.707

3005 —
2832 0.171
2692 0.230
2572 0.286
2472 0.343
2.388- 0.398
2318 0.451
2257 0.502
2206 0.549
2162 0.595
2.124 0637
2090 0.677
2061 0715

"2.035 0,751

2012 0784
1992 0816
1974 0845
1958 0:874

1844 0.900

1931 0926
1.920 0.950
1809 0.972
1800 0.994

) 1891 1.015

1884 1,034

3817 1.053

1870 1071
1864 1.088
1859 1.104
1854 1420
1835 1.169
1822 1246
1814 1.204
1808 1335
1805 1370
1802 1.401
1801 1428
16801 1.453
1801 1474
1601 1494
1862 1512
1803 1528
1.817° '!;637
1831 1697

3.142
2985
2.848
2.727
2.624
2.537
2.461
2.396
'2.339
‘2290
2.246
2208

2174

2144
2.117
2093
2071
2.052
2.034
.2018
2.004
1991

1979 .

1.067
1957
1948
1.939
1832
1.924
1.895
1875
1.861
1850

1.843.

1:837
1834
1.831
1.829
1.827
1.827
1826
1832
1.841

207
2007
1.997
1.958
1830
1.909
1.894
1,882
1873
1867

" 1861

1857
1854
1852
1.850
1847
1.852

0.127 3.350
0.175 3.216
0222 3.090
Q272 2875
0321 2873
0369 2.783
0416 2.704
0461 2.633
0504 2.571
0545, 2.514; .
0584 2.4p4
0621 2419
0,657 279
0691 2.342
0.723 2.309
0753 2278
0782 2.251
0810 2:276
0836 2.203

' 0861 2.181

0885 2.162
0.908 2.144
093¢ 2.127
0951 2.112
0970 2.098
0930 2.085
1.008 2072
1089 2022
1156 1.986
1212 1959
1260 '1.939
130 1.923
1337 1.810
1369 1.0
1997 1,893
1:422 - 1.886
1.435 1881
" 1465 1877
1:484 1874
1.608 1:862
1675 1.863

0.111  3.438
0.155 3304
0.198 3.184
0244 3073
0200 2974
0.336 2.885
0.380 2.805
0.424 2734
0.465 2.670
0505 2613
0.544 2560
0.58t 2513
0616 2.470
0.650 2.43t
0682 2396
0.712 2363
0741 233
0.769 2.306
0785 228t
0.821 2257
0.845 2.236-
0.868 2216
0.091 2.198
0812 2.160
0.932 2.164
0.952 2.149
1038 2.088
1110 2.044
1170 2.010
1222 '1.984
1286 1.984
1305 1.948
1339 1835
1.369  1.925
1.396 1.915
1420 1.909
1442 1.903
1462 1.898
1594 1877
1665 1.874

(400)
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